. [} ']
® P N Y L) ~»
A
-
lagla”””a | Vendliila aleés program erkKaurspalette | npoepamMma npooax T | -
I I I NERES MA1203M3  MA1208 M12¢1,25 MA25 03 04
\% y MA1104 18 MA1Z03M5  MAT206 M5 MAT6O3M5  MAIBOBMI2¢1 5 MAZ5 04 06
M MAT1 0414 MAT2 04 M5 MA12 06 18 MA16 04 M5 MA1606 18 MAZ5 04 08 MA35 04 M5
Z MA11 06 18 MA12 04 M6 MAT2 06 14 MA15 04 18 MA16 04 M5 MAT6 0614 MA18 03 M3 MA25 04 10 MA35 04 M /R
MAT1 06 14 MA12 04 M7 MA1208 18 MAT5 04 14 MA6.04 18 MA1608 18 MA18 03 M5 MAZ504 12 MA35 04 18
— MA1108 18 MA12.0418 MA1208 14 MA15 06 18 MA16 04 14 MA16.08 14 MA18 04 M5 MA20 04 18 MA21 04 18 MA22 04 M5 IMAZ5 06 04 MA35 06 M5
I MAT108 14 MA12 04 14 MA12 08 38 MA15 06 14 MA16 06 M5 MA1608 38 MA1804 18 MA20 04 14 MA2104 14 MA22 04 18 MA2304 18 MA24 04 18 MAZ506 08 MA26 0303 MA35 06 M5 /R
MA1108 38 MA12 06 M5 MA1208 12 MA130418 MA1508 18 MA16 06 M8 MAT6 0812 MA18 06 M5 MAZ0 06 18 MA21 06 18 MA22 06 M5 MAZ3 04 14 MA24 04 14 MAZ5 06 10 MA26 04 04 MA35 06 18
MA11 1014 MA12 06 M6 MAI2 1014 MA1306 18 MA1404 18 MAIS0814  MAIGOSMIZA25  MAI61014 MA18 06 18 MA20 06 14 MA21 06 14 MA22 06 18 MA23 06 18 MA24 06 18 mgg gg li MA2 06 06 MA35 06 14
MAT1 1038 MA12 06 M7 MA1210 38 MAT3 0614 MA1404 14 MA15 08 38 MA6 1038 MAT7 0418 MAT8 0614 MA20 08 18 MA21 08 18 MA22 0614 MA23 06 14 MA24 0614 VA2 08 08 MA26 06 04 MA28 0303 MA29.03 03 MA35 08 18
MAT11012 MAT21012 MA130818 MA1406 18 MA15 1014 MA16 1012 MAT7 06 18 MA18 08 18 MA20 08 14 MA21 08 14 MA22 0818 MA23 0818 MA24 0818 NIAZ2 08 10 MAZ6 08 08 MAZ7 0303 MAZ8 04 04 MA29 04 04 MA35 08 14
MAT11214 MAT21214 MAT3 0814 MA1406 14 MA15 1038 MAT6 1214 MAT7 06 14 MA1808 14 MAT904 18 MA20 08 38 MA21 08 38 MA22 0814 MA23 0814 MA24 08 14 NAZS 08 12 MAZ6 08 06 MAZ7 04 04 MA28 06 06 MA29 06 06 MA30 00 M5 MA31 00 M5 MA35 08 38
MAT11238 MA12 1238 MA13 08 38 MA1408 18 MA15 12 38 MA16 1238 MA1708 18 MA18 1014 MA19.06 18 MA2010 14 MA211014 MA22 1014 MAZ3 1014 MA24 1014 MAZ5 08 14 MA26 10 10 MA27 06 06 MA28 08 08 MA29 08 08 MA30 00 18 MA310018 MA320018 MA35 1014
E MAT1 1212 MA12 1212 MA13 1014 MA1408 14 MA15 12 12 MA6 1212 MA17 0814 MA181038 MAT9 06 14 MAZ0 10 38 MA21 1038 MA22 1038 MAZ3 1038 MA241038 MAZ5 1012 MA2610 08 MAZ7 08 08 MAZ8 1010 MA29 10 10 MA30 0014 MA31 0014 MA3200 14 MA33 0018 MA34 00 18 MA35 1038
MA1114 38 MA12 14 38 MA13 1038 MA141014 MA15 1438 MA16 1438 MAT7 1014 MA181238 MA1908 18 MAZ0 12 38 MA21 1238 MA22 1238 MAZ3 1238 MA24 1238 MAZ5 10 14 MAZ6 12 12 MAZ7 1010 MAZ8 1212 MAZ9 12 12 MA30 00 38 MA31 0038 MA320038 MA33 00 14 MA34 0014 MA35 12 38
MAT1 1412 MA12 1412 MA131012 MA141038 MA15 1412 MAT6 1412 MAT7 1038 MA18 1212 MA19.08 14 MA20 12 12 MA21 1212 MA22 1212 MAZ3 12 12 MA24 1212 MAZ5 1214 MA26 1414 MAZ7 1212 MAZ8 1414 MA29 14 14 MA30 00 12 MA31 0012 MA320012 MA33 00 38 MA34 00 38 MA35 12 12
MA 11 MA 12 MA 13 MA 14 MA 15 [ MA16 | MA 17 MA 18 MA 19 MA 20 MA 21 MA 22 MA 23 MA 24 MA 25 MA 26 MA 27 MA 28 MA 29 MA 30 MA 31 MA 32 MA 33 MA 34 MA 35
Ll | RERGe V1204 M5 LL] MR
3 AV120418 AVI6 04 M5 3 AP1204 M5 AP16 04 M5
M AVI10418 AV1204 14 AVIG 0418 M AP120418 AP16.0418
MA38 04 M5 Z AVIT 0414 AVI206 M5 AVIG 04 14 Z AP1206 M5 AP16 06 M5
MA36 04 M5 MA38 04 18 AVI10618 AV120618 AVI50418 AVI6 06 M5 AV35 04 M5 AP120618 AP16.06 18
MA36 04 18 MA38 04 14 F— 150 AV1106 14 AV1206 14 AV1504 14 AV1606 18 AV3504 18 f— AP1206 14 AP16.06 14
MA36 06 18 MA38 06 M5 | AVI10818 AV120818 AVI5 0618 AVIG 06 14 AV35 06 M5 | AP1208 18 AP16.08 18 AP210418 AP240418
MA36 06 14 MA37 0404 MA38 06 18 MAA3 04 04 AVI10814 AV1208 14 AVI5 06 14 AVIG 0818 AV26 04 04 V350618 AP1208 14 AP16.08 14 AP210618 AP24.06 18
MA36 08 18 MA37 06 06 MA38 06 14 MA40 00 03 MAA3 04 06 MA44 04 04 AVI10838 AV120838 AVI50818 AVIG 08 14 AV26 06 06 V350614 AP120838 AP130418 AP16.0838 AP21 06 14 AP24 06 14
MA36 08 14 MA37 06 04 MA38 08 18 MA39 00 04 MA40 00 04 MA41 04 M5 MA42 04 M5 MA43 06 04 MA44 04 06 MA45 04 04 AVIT1014 AV121014 AV130418 AVI50814 AVI6 0838 AV26 06 04 AV3508 18 m API21014 API306 18 API6 1014 AP210818 AP2408 18
MA36 08 38 MA37 08 08 MA38 08 14 MA39 00 06 MA40 00 06 MA41 0418 MA42 0418 MAA3 06 06 MAA4 06 06 MAA5 04 06 MA46 04 04 MAAT 04 04 AVI11038 V121038 AV130618 AVI50838 AVIB1014 AV26 08 08 AV28 04 04 AV29 04 04 AV3508 14 AV37 04 04 AP121038 API306 14 AP161038 AP2108 14 AP24.08 14
MA36 1014 MA37 08 06 MA38 10 14 MA39 00 08 MA40 00 08 MA1 06 18 MA42 06 18 MAA3 06 08 MAA4 06 08 MAA5 06 06 MA46 04 06 MAA7 04 06 MA10.04 00 AVIT1012 AV121012 AVI306 14 AVI5 1014 AVI61038 V250406 V260806 AV27 0404 AV2806 06 AV29 06 06 V351014 AV37 06 06 AP121012 AP130818 API61012 AP211014 AP241014
MA36 1038 MA37 10 10 MA3810 38 MA39 00 10 MA40 00 10 MA1 06 14 MA42 06 14 MA43 08 06 MA44 08 08 MAA5 06 08 MAG6 06 06 MAA7 06 06 MA10.06 00 AVIT1214 AV121214 AVI30818 AVI51038 AVIG 1214 AV25 06 08 AV261010 AV27 0606 AV280808 V290808 AV351038 AV37 0808 AP121214 AP1308 14 AP16 1214 AP211038 AP241038
MA36 1238 MA37 1008 MA38 12 38 MA39 00 12 MA40 00 12 MA1 08 18 MA4208 18 MAA3 08 08 MA% 08 10 MA5 08 08 MA46 06 08 MA47 06 08 MA10 08 00 AVI11238 AV121238 AVI308 14 AVI51238 AVI6 1238 AV2508 10 AV261008 AV27 0808 AV281010 AV291010 V351238 AV371010 AP121238 API31014 AP16 1238 AP211238 AP24 1238
MA36 12 12 MA37 1212 MA38 1212 MA39 00 14 MA40 00 14 MA1 08 14 MA42 08 14 MA43 10 10 MAG4 1010 MAZ5 1010 MA46 08 08 MA47 08 08 MA10 10 00 V111212 AV21212 AVI131014 AVI51212 AVI6 1212 V251012 AV261212 AV27 1010 V281212 AV291212 AV351212 AV371212 API21212 AP131038 AP16 1212 AP211212 AP24 1212
MA 36 MA 37 MA 38 MA 39 MA 40 | MA41 | MA 42 MA 43 MA 44 MA 45 MA 46 MA 47 MA 10 AV 11 AV 12 AV 13 AV 15 AV 16 AV 25 AV 26 AV 27 AV 28 AV 29 AV 35 AV 37 AP 12 AP 13 AP 16 AP 21 AP 24
LIJ AP1204 M5
AP120418 MB18 04 M5 MB22 04 M5
AP35 04 M5 AP1206 M5 MB18 04 18 MB2204 18
AP25 04 06 AP35 04 M5/R AP120618 MB1604 18 MB18 04 14 MB19 04 M5 MB21 04 18 MB22 04 14 MB24 04 M5 MB28 04 M5
AP2504 08 AP3504 18 — AP1206 14 MB16 04 14 MB18 06 M5 MB1904 18 MB20 04 M5 MB21 04 14 MB22 06 M5 MB24 04 18 MB25 04 04 MB28 04 M5/R
AP25 06 04 AP35 06 M5/R _I AP120818 MB16 06 18 MB1704 18 MB18 06 18 MB1904 14 MB2004 18 MB21 06 18 MB22 06 18 MB23 04 18 MB24 04 14 MB25 06 06 MB26 04 06 MB28 04 18
AP25 06 08 AP26 04 04 AP3506 18 AP370404 AP120814 MB1204 18 MB13.04 18 MB16 06 14 MB17 04 14 MB18 06 14 MB19 06 M5 MB20 06 M5 MB21 06 14 MB22 06 14 MB23 04 14 MB24 06 M5 MB25 08 08 MB26 04 08 MB28 06 M5/R MB31 04 M5
AP2506 10 AP25 06 06 AP3506 14 AP37 06 06 AP120838 AP130418 MB1206 18 MB1306 18 MB1608 18 MB17 06 18 MB1808 18 MB1906 18 MB20 06 18 MB21 08 18 MB2208 18 MB23 06 18 MB24 06 18 MB25 1010 MB26 04 10 MB28 06 18 MB31 04 18
AP25 08 06 AP26 0 04 AP3508 18 AP37 06 04 m AP121014 AP130618 MB1206 14 MB13 06 14 MB16.08 14 MB17 06 14 MB1808 14 MB19 06 14 MB20 06 14 MB21 08 14 MB22 08 14 MB23 06 14 MB24 06 14 MB2512 12 MB26 06 08 MB28 06 14 MB31 04 14
AP2508 10 AP26 08 08 AP27 0404 AP2804 04 AP2904 04 AP3508 14 AP37 0808 AP121038 AP1306 14 MB1208 18 MB1308 18 MB14 04 04 MB15 04 04 MB1608 38 MB1708 18 MB18 08 38 MB1908 18 MB2008 18 MB21 08 38 MB22 08 38 MB2308 18 MB24 08 18 MB25 06 04 MB26 06 10 MB28 08 18 MB29 04 04 MB3004 04 MB31 06 18 MB32 04 00 MB33 04 00
AP2508 12 AP26 08 06 AP27 06 06 AP28 06 06 AP29 06 06 AP351014 AP37 08 06 AP121012 AP130818 MB1208 14 MB1308 14 MB14 06 06 MB15 06 06 MB1610 14 MB17 08 14 MB181014 MB1908 14 MB20.08 14 MB21 10 14 MB22 1014 MB2308 14 MB24 08 14 MB25 08 06 MB26 06 12 MB28 08 14 MB29 06 06 MB30 04 06 MB31 06 14 MB32 06 00 MB33 06 00
AP251012 AP261010 AP27 0808 AP280808 AP29.08 08 AP351038 AP371010 AP121214 AP130814 MB1208 38 MB13 08 38 MB14.08 08 MB1508 08 MB1610 38 MB17 08 38 MB18 1038 MB1908 38 MB20 08 38 MB21 1038 MB2210 38 MB23 0838 MB24 08 38 MB25 1008 MB26 08 10 MB28 08 38 MB29 08 08 MB30 04 08 MB3108 18 MB32 08 00 MB33 08 00
AP5 1014 AP251008 AP271010 AP281010 AP291010 AP351238 AP371008 AP121238 AP131014 MB1210 14 MB1310 14 MB141010 MB151010 MB16 12 38 MB1710 14 MB18 1238 MB19 10 14 MB2010 14 MB211238 MB221238 MB23 10 14 MB24 10 14 MB25 12 08 MB26 08 12 MB27 06 04 MB28 10 14 MB29 1010 MB30 06 06 MB31 08 14 MB3210 00 MB331000
AP5 1214 AP25 1212 AP271212 AP281212 AP291212 AP35 1212 AP371212 AP121212 AP131038 MB1210 38 MB13 1038 MB1412 12 MB1512 12 MB1612 12 MB171038 MB181212 MB191038 MB201038 MB21 1212 MB221212 MB23 1038 MB24 1038 MB2512 10 MB2610 12 MB27 08 06 MB28 1038 MB2912 12 MB3008 08 MB31 08 38 MB32 1200 MB33 1200
AP 25 AP 26 AP 27 AP 28 AP 29 AP 35 AP 37 AP 12 AP 13 MB 12 MB 13 | MB14 | [ MB15 | | MB16 | MB 17 MB 18 [ MB19 | MB 20 MB 21 MB 22 MB 23 MB 24 [ MB25 | MB 26 MB 27 MB 28 MB 29 MB 30 MB 31 MB 32 VEER
= = — =
— HP110418 HP18.04 18 — MIX1104 18 NIX12 04 M5
HP12 04 M6x0,75 HP18 04 M6x0,75 | _I —I MXT1 04 14 MX12.04 18
_l HP11 04 MBx1 HP14 04 18 HP18 04 M6x1 MP11 04 18 MP14 04 18 MP15 04 18 NIX11 06 18 MX1206 18
HP11 04 M81 HP14 04 M1 HP18 04 Msx1 MP11 04 M6x1 MP14 04 M6 MP15 04 Méx1 NIX11 06 14 MX1206 14
HP11 04 M10K1 HP14 04 M8l HP18 04 M10x1 m MP110 4 M8 MP14 04 Mgx1 MP15 04 M8x1 x NIX1108 18 MX1208 18 NIX1404 18
MB42 00 M5 MB48 04 04 MB49 04 04 m HP1106 18 HP14 04 M10x1 HP18 06 18 MP11 04 M10¢1 MP14 04 M10¢1 MP15 04 M10x1 MIX11 08 14 MX1208 14 NIX14 06 18
MB42.00 18 MB46 04 04 MB48 06 06 MB49 06 06 MB10.04 00 HP11 06 14 HP14.06 18 HP18 06 14 MP11 06 18 MP14 06 18 MP15 0618 MM99 10-24 60,15 NIX1110 14 MX1210 14 NIX14 06 14
MB35 04 06 MB4200 14 MB45 06 06 MB48 08 08 MB49 08 08 MB10.06 00 = HP11 06 M6x1 HP14 06 M1 HP18 06 Mex1 MP11 06 M6x1 MP14 06 M6ix1 MP15 06 Mx1 MM 1 1/4 1/4 MM26 1/41/4 MM99 10-24 90,20 MX111038 MX121038 NIX1408 18
MB35 06 05 MB420038 MBA3 04 06 MB44 04 18 MB45 08 08 MB48 10 10 MB49 1010 MB10.08 00 HP11 06 M1 HP14 06 Msx1 HP18 06 M8x1 MP11 06 Mgx1 MP14 06 M8 MP15 06 Max1 MP26 04 04 MM113/81/4 MM261/4 3/8 MM28 1/41/4 MM29 1/41/4 M0 00 1/4 MIM46 1/4 1/4 MMBO 1/4 1/4 MIMB1 00 1/4 MM99 10-24 90,30 MX111238 MX121238 NIX1408 14
MB35 08 04 MB4200 12 MBA3 04 08 MBA4 04 14 MB46 1010 MB48 12 12 MB49 12 12 MB101000 HP11 06 M10x1 HP14 06 M10x1 HP18 06 M10x1 HP11 06 M10xT NR MP11 06 M10x1 MP14 06 M10x1 MP15 06 M10x1 MP26 06 06 MM113/83/8 MM263/8 3/8 MM283/8 3/8 MM293/83/8 MM20003/8 MIMA46 3/8 3/8 MM0 3/8 /8 MIMB1 00 3/8 MM99 10-24 90,40 NX111212 MX121212 MIX1410 14
MB 35 MB 42 MB 43 MB 44 MB 46 MB 48 MB 49 [ MB10 | [ HP11 | | HP14 | | HP18 | | HP11-NR |  MP11__| [ MP14 | | MP15_|  MP26 | MX 11 MX 12 MX 14
NIX16 04 M5 — —
NIX1504 18 NIX1604 18 MX3504 18 0X110418
MX15 06 18 MX16 06 18 MX21 04 M5 MX35 06 18 —I —I 0X1106 18 0X140418 0X200418
MX15 06 14 NIX16 06 14 MX20 04 18 MX2104 18 NIX26 04 04 MX35 06 14 OX1106 14 0X1406 18 0X2006 18
MX1508 18 MIX16 08 18 MX2006 18 MX21 06 18 MX25 04 06 NIX26 06 06 MX35 0818 CX110618 x 0X110818 0X1306 18 0X1406 14 0X20 06 14
NIX15 08 14 NIX16 08 14 MX20 06 14 MX2106 14 NIX25 06 08 NIX26 06 04 NIX27 04 04 NX28 04 04 NIX29 04 04 MX35 08 14 CX1106 14 CX140618 £X20 06 18 £X23 06 18 0X1000 04 0X110814 0X1308 14 0X140814 0X2008 14 0X220004 0X26 04 00 0X28 0400 0X290400
NIX1510 14 NIX16 10 14 MX2008 18 MX21 08 18 NIX25 06 10 NIX26 08 08 NIX27 06 06 NIX28 06 06 NIX29 06 06 NX3000 18 MX3100 18 MX35 10 14 CX110818 CX14 06 14 £X20 06 14 CX23 06 14 0X1000 06 0X111014 0X131014 0X141014 0X201014 0X220006 0X26,06.00 0X28 06,00 0X2906.00
NIX1510 38 NIX16 1038 MX20 0814 MX2108 14 NIX25 08 10 NIX26 08 06 NIX27 08 08 MX28 08 08 MX29 08 08 NIX3000 14 MIX31 00 14 MX35 10 38 u CX100610 CX110814 CX140818 £X2008 18 (X2308 18 CX26 06 06 CX28 06 06 £X29.06 06 c 0X100008 0X111038 0X131038 0X141038 0X201038 0X220008 0X26 08 00 0X28.08 00 0X2908 00
MX1512 38 MX1612 38 MX2010 14 MX21 1014 MX25 08 12 MX26 1010 MX27 1010 MX2810 10 MX29 1010 MX30 00 38 MX3100 38 MX3512 38 CX1008 12 CX111014 CX140814 (CX200814 (CX2308 14 (CX26 0808 £X2808 08 £X2908 08 0X100010 0X111238 0X131238 0X141238 0X201238 0X220010 (0X26 1000 (0X28 1000 0X291000
NIX15 1212 MX161212 MX201038 MX211038 NIX2510 12 NIX26 1212 MX27 1212 NX2812 12 NX2912 12 NIX3000 12 NIX31 0012 MX3512 12 CX101014 CX111038 CX141014 CX201014 0X231014 CX261010 CX281010 £X291010 0X100012 OX111212 0X131212 0X141212 0X201212 aE 0X220012 0X26 1200 0X28 1200 0X291200
MX 15 MX 16 MX 20 MX 21 MX 25 MX 26 MX 27 MX 28 MX 29 MX 30 MX 31 MX 35 MX INC CX 10 CX 11 CX 14 CX 20 CX 23 CX 26 CX 28 CX 29 0X 10 0X 11 0X 13 0X 14 0X 20 0X 22 0X 26 0X 28 0X 29
MULTI PROFILE : EUROPEAN PROFILE - DN 7,5 E SAFETY EUROPEAN PROFILE - DN 7,5 :
Z Z ﬁ ﬁ Z Z RATT M5 M5 RAT21818
f— — ‘ ‘ — fr— RAT1 M5 18 RA121814
| | I | RAT1 1818 RAT218.38
— RAT1 1814 RAT21414
n n == RX12 1818 RAT1 1838 RAT2 1438
x ﬁ ﬁ VX 180418 LOJ RX121814 RX141814 RATT 1414 RAT21412
1 1 VX 180618 RX121414 RX141838 RAT1 1438 RAT23838
VX 1806 14 VX 230018 RX1214 38 RX130018 RX141812 RX211818 RX22 1818 RX231818 RX24 1818 RX3518 18 RX4200 18 RX43 0018 RX46 00 18 RATT 1412 RAT23812
w 6X46-1000 14 6X46-1200 14 6X46-13 06 00 > VX 180818 —— VX220014 VX 230014 : RX123838 RX1300 14 RX141438 RX15 M5 18 RX21 1414 RX22 14 14 RX23 1414 RX24 1414 RX35 1414 RX42.00 14 RX4300 14 RX46 00 14 m RAT1 3838 RA121212
GX10-110014 GX10-120014 6X10-200014 6X10-210014 6X46-100038 6X46-1200 38 6X46-1309 00 ﬁg, VX 150018 ﬁ%* VX 181014 ﬁ%* VX210018 4 vx220038 VX 230038 RX123812 RX1300 38 RX14 1412 RX15 18 14 RX213838 RX2238 38 RX2338 38 RX24 38 38 RX35.38 38 RX420038 RX430038 RX46 00 38 RAT1 38 12 RAT21234
6X10-110038 GX10-120038 6X10-200038 6X10-210038 6X46-1000 12 6X46-120012 6X46-1313 00 ‘ VX 150014 ‘ V181038 ‘ VX 210014 VX220012 VX230012 RX121212 RX130012 RX1438 12 RX15 1438 RX21 1212 R221212 RX23 1212 RX24 1212 RX35 1212 RX42.00 12 RX430012 RX46 00 12 RATT 1212 RAT23434
(5X10-11 GX10-12 (5X10-20 (5X10-21 (5X46-10 (GX46-12 (5X46-13 VX 15 VX 18 VX 21 VX 22 VX 23 RX 12 RX 13 RX 14 RX 15 RX 21 RX 22 RX 23 RX 24 RX 35 RX 42 RX 43 RX 46
RA30 03 M5
RA3035 M5
RA3045 M5
RA307518
RA307514
RAT7 M5 18 RA3085 18 RA31 0018
RAT6 1818 RAT7 1818 RA3095 18 RA31 00 14
RA141814 RAT5 M5 18 RATE 1814 RAT7 18 14 RA3095 14 RA31 0038
RAT4 1838 RAT5 18 14 RATE 1414 RAT7 1414 RATB M5 18 RA309538 RA31 00 12 RA42 00 M5
RAT300 M5 RAT4 1812 RAT5 1838 RATE 1438 RAT7 1438 RATB 18 14 RAT9 00 M5 RA29 00 M5 RA30 12,5 14 RA31 00 M10¢1 RA42 00 M5/R RA44 00 M5
RAT30018 RAT4 1438 RAT5 1812 RATE 1412 RATT 1412 RAT8 1838 RAT9.00 18 RA4300 18 RA200018 RA21 1818 RA221818 RA231818 RA24 1818 RAZ5 1818 RA29.00 18 RA3012,5 38 RA31 00 M12¢1 RA35 1818 RA61818 RA391822 RA400018 RA410018 RA420018 RA4 0018 RA460018
RA130014 RAI41412 RAT5 1438 RAT6 38 38 RAT7 3838 RAT8 1438 RAT9.00 14 RA4300 14 RA20 00 14 RA21 1414 RA22 1414 RA23 1414 RA24 1414 RA25 14 14 RA2618 18 RA27 M5 M5 RA28 M5 M5 RA29 00 14 RA30125 12 RA31 00 M14x1 RA35 14 14 RA36 14 14 RA39 18 42 RA400014 RA41 0014 RA420014 RA4 0014 RA460014
RAT3 0038 RATA 38 12 RAT5 1412 RA16 3812 RAT73812 RAIB1412 RA190038 RA43 0038 RA20 00 38 RA21 3838 RA22 38 38 RA23 38 38 RA24 38,38 RA?53838 RA26 14 14 RA27 1818 RA2818 18 RA290038 RA30 17,538 RA3T 00 M16x1 RA35 38 38 RA36 38 38 RA39 1435 RA400038 RA41 0038 RA420038 RA44 0038 RA45 18 18 RA45 0038
RAT3 0012 RATA 1234 RAT5 38 12 RATE 1212 RAI71212 RAI83812 RA190012 RA430012 RA200012 RA21 1212 RA221212 RA2312 12 RA24 1212 RA251212 RA26 38 38 RA27 1414 RAZ814 14 RA2900 12 RA30 17,512 RA31 00 M20x1 5 RA35 12 12 RA36 1212 RA38 18 14 RA39 1451 RA000 12 RA41 00 12 RA4200 12 RA440012 RA45 14 14 RA46.00 12 RA33 130 RA33 350
LIJ MC1104 18 MC16 04 M5 MC23 04 M5 LlJ
MC1105 18 MC1604 18 MC23 04 M5/R
Z MC1106 18 MC12.04 M5 MC12.06 18 MC1605 18 MC23 04 18 Z
POLIAMMIDE 11 (PA11) MC1106 14 MC1204 18 MC12.06 14 MC16 06 18 MC23 05 M5 MC34 04 M5 MO1104 18 M01204 M5
POLIURETANO C98 (PU) — MC11 06 38 MC12 05 M5 MC12 0638 MC16 06 14 MC23 05 M/ MC34 0418 — MO1105 18 M012 0418
POLIAMMIDE 6 (PAG) MC1108 18 MC1205 18 MC1208 18 MC16 06 38 MC20 05 18 MC21 05 18 MC23 05 18 MC24 05 M5 MC34 05 M5 MC36 05 M5 MO1106 18 M012.05 18
POLIAMMIDE 6.6 (PAG 5 —I MC1108 14 MC12 06 M5 MC1208 14 MC1305 18 MC1608 18 MC20 06 18 MC21 06 18 MC23 06 M5 MC24 05 18 MC34 05 18 MC36 05 18 —I MO1106 14 MO1206 18
POLIETILENE (LDPE) MC110838 MC120838 MC1306 18 MC16 08 14 MC20 06 14 MC21 06 14 MC23 06 M5/R MC24 06 M5 MC27 04 07 MC34 06 M5 MC36 06 M5 MO1108 18 M01206 14 MO1304 18
PTEE. MC111018 MC121018 MC1306 14 MC16.08 38 MC170518 MC2008 18 MC2108 18 MC23 06 18 MC24 .06 18 MC27 05 08 MC3406 18 MC36 06 18 MO1108 14 M01208 18 M01305 18 MO14 04 04
TRYBKA M3 MOMVAMZA 11 (PAH1) u MCT110 14 MC1210 14 MC1308 18 MC14.05 05 MC15.05 05 MC161018 MC17 06 18 MC18 05 05 MC1905 05 MC20 08 14 MC21 08 14 MC23 06 14 MC24 06 14 MC27 06 08 MC29 06 18 MC30.06 18 MC3106 18 MC34 06 14 MC36 06 14 c MO1108 38 MO1208 14 MO13 06 18 MO14 05 05
TRYEKA U3 MOTMYPETAHA C38(PU) MC111038 MC121038 MC1308 14 MC14 06 06 MC15 06 06 MC1610 14 MC17 06 14 MC18 06 06 MC19 06 06 MC20 10 14 MC21 10 14 MC23 08 18 MC2408 18 MC27 06 10 MC29 06 14 MC3006 14 MC3106 14 MC34 08 18 MC36 08 18 MO111014 M012 1014 MO13 06 14 MO14 06 06
TRYBKA M3 MOTVANMTA 6 (PAG) MC111012 MC1210 12 MC13 08 38 MC14 08 08 MC15 08 08 MC161038 MC1708 18 MC18 08 08 MC1908 08 MC2010 38 MC2110 38 MC22 05 05 MC2308 14 MC24 08 14 MC27 08 12 MC29 08 18 MC3008 18 MC310818 MC34 08 14 MC36 08 14 MO111038 M0121038 M01308 18 MO1408 08
TRYEKA U3 MOTVAMMAZA 6.6 (PAG ) MC111238 MC1212.38 MC1310 14 MC141010 MC1510 10 MC161238 MC17 08 14 MC1810 10 MC1910 10 MC2012 38 MC21 1238 MC22 06 06 MC23 08 38 MC24 08 38 MC27 10 14 MC29 08 14 MC3008 14 MC3108 14 MC32 06 04 MC34 08 38 MC36 0838 MO111238 M0121238 MO13.08 14 MO14 1010
RA34 12 RA37 12 TRYEKA U3 NOMMBTUEHTA (T3HN) MC111212 MC1212 12 MC13 1038 MC141212 MC1512 12 MC16 1212 MC171014 MC1812 12 MC1912 12 MC201212 MC21 1212 MC22 08 08 MC23 10 14 MC24 10 14 MC27 1216 MC29 10 14 MC30 10 14 MC3110 14 MC32 08 06 MC34 10 14 MC36 10 14 MO111212 M012 12 12 MO13 1014 MO14 12 12
RA33-SL RA34 25 RA37 25 TRYEKA U3 TEONOHA MC11 1512 MC1215 12 MC131238 MC14 15 15 MC15 15 15 MC16 15 12 MC171238 MC18 15 15 MC1915 15 MC2015 12 MC21 15 12 MC22 1010 MC23 1038 MC24 1038 MC27 1520 MC29 1038 MC30 1038 MC311038 MC3210 08 MC3410 38 MC36 10 38 MO11 1512 M012 15 12 MO13 1038 MO14 15 15
L MO11 | MO 12 [ M013_| [ MO14 |
DN 25 : E DN5 : EUROPEAN PROFILE DN 7,5 :
M016.04 18 M0190418 M02004 18 Z
MO16 05 18 0190518 020 05 18 M024 0418 f—
M016 06 18 M019.06 18 M020 06 18 M024 05 18 |
MO1606 14 MO19.06 14 M020 06 14 MO24 06 18
MO15 04 04 M01608 18 MO17 04 04 MO18 04 04 M019.08 18 M02008 18 M021 04 08 M022 04 65 MO24 06 14
M015 05 05 MO1608 14 MO17 05 05 MO18 05 05 MO19.08 14 M02008 14 M021 05 10 M022 05 75 M024 08 18 :
MO15 06 06 MO16 1014 MO17 06 06 MO18 06 06 M0191014 M0201014 MO021 06 10 M022 06 75 MO23 06 12 M024 0814
M015 08 08 M016 1038 MO17 08 08 MO18 08 08 M019 1038 M020 1038 M021 08 12 M022 0875 MO23 08 14 M024 1014 M025 06 18 M026 08 06
M015 1010 M0161238 M017 10 10 MO18 1010 MO191238 M020 1238 M021 10 16 M022 1095 M023 1016 M024 1038 MO25 06 14 M026 10 06 w 6U20-15 04 00 6U20-23 04 00 6U26-1100 14 6U26-120014
MO15 1212 MO16 12 12 MO17 12 12 MO18 1212 M01912 12 M020 12 12 M021 12 18 M022 12 95 M023 1218 M024 1238 M025 08 18 MO26 10 08 6U20-11 00 M5 6U20-12 00 M5 6U20-1303 00 6U20-15 05 00 6U20-20 00 M5 6U20-21 00 M5 6U20-22 03 00 GU20-23 05 00 6U21-1100 18 GU21-120018 6U21-13 04 00 6U21-15 06 00 6U21-200018 6U21-21 0018 6U21-22 04 00 6U21-23 06 00 GU21-24 06 00 6U26-110038 6U26-120038
MO15 15 15 MO16 15 12 MO17 15 15 MO18 15 15 MO19 1512 M020 15 12 M021 15 22 M022 15 10 M023 15 20 M024 1212 M025 08 14 MO26 12 08 6U20-1100 18 6U20-120018 GU20-13 04 00 6U20-15 06 00 6U20-2000 18 6U20-21 0018 6U20-22 04 00 6U20-23 06 00 6U21-110014 6U21-12.00 14 6U21-13 06 00 6U21-1508 00 6021200014 6U21-21 00 14 6U21-22 06 00 6U21-23 0800 GU21-24 08 00 6U26-110012 GUZ6-120012
[ M0O15 | [ MO16 | MO 17 [ M018 | | M019 | MO 20 MO 21 MO 22 MO 23 MO 24 MO 25 MO 26 GU20- 11 | GU20-12 | GU20- 13 GU 20 - 15 GU 20 - 20 GU 20 - 21 | GU20-22 | | GU20-23 | GU21-11 | GU21-12 | IE | GU21-15 | GU21-20 | GU21-21 | GU21-22 GU 21-23 GU21-24 | GU26-11 | GU 26- 12
MULTI PROFILE ITALIAN PROFILE >— 1S0 6150 C-10 PROFILE DN 5,5 1S0 6150 B-12 PROFILE DN 5,5 1S0 6150 C-14 PROFILE DN 8
—O- A —O- ~<- ~O+O- >+ >+ o —O- < —O- < —O-
MULTICONNETTOR LL.
MULTIPLE CONNECTORS < Z
VIELFACHVERBINDER R—
Al130412 w
MYNETUPASEMBI It 1 T
(U26-22 06 00 1130808 GU41-100038
6U26-22 08 00 : GUAT-1000 12
6U26-13 06 00 6U26-2000 14 6U26-21 0014 6U26-22 09 00 6U26-23 06 00 6U26-24 06 00 GUI0-110014 6U10-1200 14 6U10-13 06 00 GUI1-2000 14 A2130420 B1130412 6U41-1100 14 GU4I-1200 14 6UA1-13 06 00 GU41-2000 14 6U41-21 00 14 6U41-22 06 00 6U42-100014 6UA2-120014 6U42-13 06 00 6U42-2000 14 6U42-2100 14 GU43-1000 14 6U43-120014 6U43-13 08 00
6U26-13 09 00 GU26-15 08 00 6U26-20 00 38 6U26-2100 38 6U26-22 1000 6U26-23 08 00 GU26-24 08 00 GU10-110038 6U10-120038 6U10-1309.00 GU11-200038 GUI1-210014 0130606 A21306 14 B11306 10 w 6U41-110038 GUA41-120038 6UA1-1308 00 GU41-200038 6U41-210038 6UA1-22 08 00 6U£2-1000 38 6U42-120038 6U42-13 08 00 6U£2-2000 38 6U£2-21 0038 6U43-100038 6U43-120038 6U43-13 1000
6U26-13 1300 GU26-15 10 00 6U26-20 00 12 6U6-21 00 12 6U26-22 13 00 6U26-23 1000 GU26-24 10 00 GUI0-110012 6U10-120012 6U10-13 13,00 GUI1-200012 GU11-210038 0130804 A21308 10 B1130808 6U41-110012 GUA41-120012 6U41-13 1000 GU41-2000 12 6U41-2100 12 6U41-22 1000 6U£2-1000 12 6U42-12.00 12 6U42-13 1000 6U42-2000 12 6U42-21 0012 GU43-1000 12 6U43-120012 6U43-13 1300
GU 26 - 13 | GU26-15 | GU26 - 20 | GU26-21 | | GU26-22 | GU 26 - 23 GU 26 - 24 | GU10-11 | GU 10- 12 | GU10-13 | | GU11-20 | | GU11-21 | A013 A113 / A213 B113 | GU41-10 | | GU41-12 | GU 41-13 GU 41-20 GU 41-21 GU 41-22 _ GU42-10 | | GU42-12 | | GU42-13 | GU 42 - 20 GU 42 - 21 | GU43-10 | GU 43-12 GU 43 -13
E IS0 6150 B-15 PROFILE DN 8 ARO PROFILE DN 5,5 : EUROPEAN PROFILE DN 7,5 :
Z MV20 04 M5 MVA42 04 M5
— MV20 05 M5 MV42 05 M5 MV38 04 M5 V36 04 M5 MV39 04 M5 MV37 04 M5
| MV18 04 M5 MVA1 04 M5 NIV20 05 18 MV42 05 18 MV38 04 18 V36 04 18 MV3904 18 MV37 04 18
@ @ @ @ @ M1 0418 MV41 0418 @ MV20 06 M @ MV22 06 M5 @ V38 06 M5 @ V3B 06 M @ MV39 06 M5 @ MV37 06 M
MV18 06 18 MVA1 06 18 MV20 06 18 MIVA2 06 18 MV38 06 18 V36 06 18 MV3906 18 MV37 06 18
> MVI8 0614 MV41 06 14 MV20 06 14 MV42 06 14 MV38 06 14 V36 06 14 MV39 06 14 MV37 06 14
GUA5-13 06 00 (U613 05,00 @ MV15 00 M5 @ V1600 M5 @ MV17 00 M5 @ M40 00 M5 @ MVIg 08 18 MV41 08 18 @ MV20 08 18 @ MV42 08 18 @ M35 0818 @ V30818 @ V390818 @ MV37 08 16
6U45-13 08 00 GU26-13 08 00 MV1500 18 MV160018 MVI70018 MVA0 00 18 MV18 08 14 MV41 08 14 MV20 08 14 MV42 08 14 MV38 08 14 V36 08 14 MV3908 14 MV37 08 14
6U43-2000 14 6U43-21 0014 6U43-22 08 00 6U44-13 08 00 6U44-2000 14 6U44-2100 14 6U45-1000 14 6U85-1200 14 6U45-13 1000 6U46-1000 14 CUIB120014 GU46-13 0900 MVI5 00 14 MV16 0014 MVI700 14 MVA0 00 14 MV18 0838 MIV41 08 38 NIV20 08 38 MIV42 08 38 MV38 0838 V36 08.38 MV3908 38 MV37 08 38
6U43-2000 38 6U£3-210038 6U43-22 1000 GU44-100038 6U44-120038 6U44-13 1000 6U44-2000 38 6U44-210038 6U45-1000 38 6U45-12.00 38 6U45-13 09 00 6U46-1000 38 GUsB120038 GUAE-13 1000 % MV15 0038 % MV16 0038 % MV70038 % MV40 0038 % MV1810 14 % MVA1 1014 % MV20 10 14 % MVA2 10 14 % MV38 1014 % V3B 10 14 % MV3310 14 % V371014
6U43-2000 12 6U£3-21 0012 6U43-22 1300 GU44-1000 12 6U44-12.00 12 6U44-13 13,00 6U44-20 0012 GU44-2100 12 6U£5-1000 12 6U45-12.00 12 6U45-13 1300 6U46-1000 12 GU61200 12 GUAE-13 1300 NIVI5 00 12 MV160012 MVI70012 MVA0 00 12 MV181038 MVA1 10 38 MV20 10 38 MVA210 38 MV38 1038 V361038 MV33 1038 MV37 1038
| GU43-20 | GU43-21 | | GU43-22 | | GU44-10 | | GU44-12 | | GU44-13 | GU 44- 20 GU 44 - 21 | GU45-10 | | GU45-12 | GU 45-13 GU 46 - 10 | GU46-12 | GU 46-13 MV 15 MV 16 MV 17 MV 40 MV 18 MV 41 MV 20 MV 42 MV 38 MV 36 MV 39 MV 37
MV33 04 M5
MV3304 18
@ @ V3306 18
@ MV3306 14 MVA4 04 M5
NIV28 04 M5 NIV35 04 M5 MV3308 18 MV22 08 14 -MA MV27 00 M5 MVA4 04 18
@ MV1g04 18 @ V28 06 M5 % MV21 00 M5 % @ MV35 04 18 @ MV23 00 M5 MV33 08 14 MV22 14 14 -RA MV27 00 18 MV26 00 M5 V44 06 M5 Fm Fm
MV1906 18 MV28 06 18 MV29.0018 MV21 0018 MV35 06 18 @ MV49 06 14 MV23 00 18 MV33 10 14 MV22 10 38 -MA MV27 00 14 MV26 00 18 MVA4 06 18 MV45 00 18 ; MV55 06 18 MVI10018- FE
MV19 06 14 MV28 06 14 MV2900 14 MV2100 14 MV34 04 04 MV35 06 14 MIVA3 04 04 MIVA9 08 14 MV2300 14 MV331038 T MV223338-RA o Mo MV26 00 14 MVA4 06 14 MV45 00 14 i MV00014 MV5200 18 MV55 06 14 MVI10014- FE
% MV1908 18 % MV28 08 18 @ MV2900 38 @ MV210038 MV34 06 06 @ MV35 08 18 NIVA3 06 06 % MV49 08 38 MV23 00 38 MV3312 12 MV221212-MA MV27 0012 NIV26 00 38 MV3200 18 . MV44 08 18 MV45 00 38 /&[ﬂj NIVA6 00 18 ij] MV48 06 06 V47 00 18 MV50 00 38 MV5200 14 MV55 08 18 MVI10038- FE
MV1908 14 MV28 08 14 MV29.00 12 MV2100 12 MV34 08 08 MV35 08 14 NIVA3 08 08 MV49 10 38 MV23 0012 MV3314 12 MV2212 12 -RA MV27 00 34 MV26 00 12 MV3200 14 MV44 08 14 MV45 00 12 NIVA6 00 14 MV48 08 08 VA7 00 14 MV5000 12 MV52 0038 MV55 08 14 MVI10012- FE
MV 19 MV 28 MV 29 MV 21 MV 34 MV 35 MV 43 MV 49 MV 23 MV 33 MV 22 MV 27 MV 26 MV 32 MV 44 MV 45 MV 46 MV 48 MV 47 MV 50 MV 52 MV 55 MV 11 - FE
MV51 06 06
MV11 00 M5 - CO MV11 00 M5 - BE MV11 0018 -PL MV1400 M5 MV51 06 18
MV1100 18 - FEP MV110018- €O MV110018-CQ MV1100 18 - BE MVI10018-P MV1100 14-PL MV1100 18 -VE MV1400 18 MV24 0018 MV2500 18 MVS3.0018 MV54 00 18 MVS1 06 14
MV1100 14 - FEP MVI10014-C0 MVI10014-CQ MV1100 14 - BE MV110014-P MV110038 -PL MVI100 14-VE MV1400 14 MV24 00 14 MV25 00 14 MVS3.00 14 MV54 00 14 MV51 08 08
MV11 00 38 - FEP MV110038-CO MV110038- CQ MV110038 - BE MV110038-P MVI1 0012 PL ﬁ%m MV11 0038 -VE %E MV140038 MV24 00 38 MV25 0038 MVS3 00 38 MV 00 38 @ MVS1 08 18
MV11 0012 - FEP MV110012-CO MVI10012-CQ MVI10012- BE MV110012-P MV1100 12 -BE MV1100 12 -VE MV2400 12 MV2500 12 MV53.0012 MV 00 12 MVS1 08 14
MV 11 - FEP MV 11 - CO MV 11-CQ MV 11 - BE MV11-P MV 11 -PL MV 11 - VE MV 14 MV 24 MV 25 MV 53 MV 54 MV 51




